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(Colourimetric scaling of achromatic colours between peak white and blacl Colourimetric scaling of achromatic colours between peak white and black.
Relations between tristimulus valueY, luminanceL, and lightnessL* of ISO-standards Relations between tristimulus valueY, luminanceL, and lightnessL* of ISO-standards

Colour (light [tristimu- |IECSRGByy |[relative CIELAB\y |[TUBLOGy Colour (light [tristimu- |HDR display |relative CIELABy |[TUBLOGy

or paper) lus values] Iightness luminance lightness i or paper) lus valt inance  [luminance |lightness i

Contrast W:N [Y CiecsraBy Ly |bw  |E ciELas N L*TuBLOG Contrast WN [Y L Lu |lw [Hoewsy [Mrusosy
(25:1=100:4) |(5°5=2,24=sy Law'/?* [=L/Ly|=L/Lw [FowLaw =t \Og(Lnu)+50 (25:1=100:4) |(5°5=2,24|[cd/m?] =L/Ly|=L/Lw |=dyLny3-16| =ty \Og(Lnu)+50
White P1 224 139=! 50+89 11,2 2,24 |135=50+85 |[125=50+77 White P1 224 448 11,2 [2,24 [135=50+85 |125=50+77
(light) =2011,2 |=s(2,24§%* =c(2,2473-16=t log(11,20)+5¢ (light) =20%11,2 | =40*11,2 =c(11,203- 1+t log(11,20)+5¢
\White W (fluo-[100 100=50+50 |5 1,00 100 50+50  [100=50+52 White W (fluo-[100 200 5 1,00 |100=50+50 [100=50+52
recent paper) |=20*5 =s(1,00§/24 16=t log(5,00)+50 recent paper) |=20*5 =40*5 =c(5,00}3-16=t log(5,00)+50
light Grey H [44,8 71=50+21 | 2,24 [0,45 75=50+27 light Grey H [44,8 89,6 2,24 [0,45 |72=50+22 |75=50+27
(paper) =20%2,24 |=5(0,45}/24 = 0,457/3-16 =t log(2,24)+50 (paper) =20%2,24 | =40*2,24 (2,24¥3-16=t log(2,24)+50

Grey U 20 1 0,20 |50=50+2 Grey U 20 40 1 0,20 [51=50+1 |50=50+2
(paper) 16=t log(1,00)+50 (paper) 4071 =c(1,00-16=t log(1,00)+50
dark Grey D 8,9 3 0,45 10,09 24=50-23 dark Grey D 8,9 17,8 0,45 (0,09 [35=50-14 24=50-23
(paper) =20/2,24 |= =t log(0,45)+50 (paper) =20/2,24 | 40/2,24 =c(0,45}3-16=t log(0,45)+50
Black N 4 0,20 10,04 0=50-48 Black N 4 8 0,20 [0,04 |23=50-26 |[0=50-48
(paper) =20/5 =t log(0,20)+50 (paper) =20/5 40/5 =c(0,203-16=t log(0,20)+50
Black p1 0,09 (0,022 [14: —-23=50-71 Black p1 19 3,6 0,09 0,022 |1. —-23=50-71

0g(0,10)+50 (glossy papen)|=20/11,2 | 40/11,2 =t log(0,10)+50
116, IECSRGR, 555100, TUBLOG t,==50M0g(5)=72Yw={it s valid: CIELABy: t/=0=66, TUBLOGy T==50108(5)=72Yau=Y/100.Yy =YI20

19
(glossy paper)|=20/11,2
It is valid: CIELAByy: oy=
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'<.:' Colourimetric scaling of achromatic colours between peak white and black. Colourimetric scaling of achromatic colours between peak white and black.

g Relations between tristimulus valueY, luminance L, and lightnessL* of ISO-standards Relations between tristimulus valueY, luminance L, and lightnessL* of ISO-standards

= Colour (light |tristimu- |HDR display |relative CIELAB\y [TUBLOGy Colour (light |tristimu- |HDR display |relative IECSRGByy [TUBLOG y

=1 or paper) lus valueglluminance [luminance |lightness or paper) lus values| ance  |luminance  [lightness

% Contrast W:N [Y L Ly [Lw | CIELAB Y L*1usLoGy Contrast W:N [Y L Ly |Lw L'\ECsRGBg‘/ L*1usLoGy

= |(25:1=100:4) |(505=2,24|[cd/m?] =L/L y =L/ w |=ow L nw ¥3-16 =ty log(L ,u)+50 (25:1=100:4) |(595=2,24][cdim? =LILy|=L/Lw [=sw Law?# [=tylog(Lau)+50

g White P1 224 448 11,2 [2,24 |135=50+85 |125=50+77 White P1 224 448 11,2 [2,24 [139=50+89 |125=50+77

£ aighy =20*11,2 | =40*11,2 =c(2,24)3-16=t log(11,20)+5 (light) =20*11,2 | =40*11,2 =5(2,24§24 =t log(11,20)+5

§ \White W (fluo-[100 200 5 1,00 |100=50+50 [100=50+52 \White W (fluo-[100 200 5 1,00 100=50+52
recent paper) [=205  |=40*5 1,00§/3-16=t log(5,00)+50 recent paper) [=205  |=40*5 =t log(5,00)+50 E'
light Grey H 44,8 89,6 2,24 10,45 0+22 75=50+27 light Grey H 44,8 89,6 2,24 10,45 75=50+27 [v3]
(paper) =20"2,24 | =40*2,24 =c(0,45}3-16=t log(2,24)+50 (paper) =20"2,24 | =40*2,24 =t log(2,24)+50 3
Grey U 20 40 1 0,20 [51=50+1 |50=50+2 Grey U 20 40 1 0,20 5 50+1 [50=50+2 D
(paper) 40*1 =c(0,20}3-16=t log(1,00)+50 (paper) 40*1 =t log(1,00)+50 @
dark Grey D 8,9 17,8 0,45 (0,09 24=50-23 dark Grey D 8,9 17,8 0,45 (0,09 24=50-23 g
(paper) =20/2,24 | 40/2,24 =t log(0,45)+50 (paper) =20/2,24 | 40/2,24 =t log(0,45)+50 =
Black N 4 8 0,20 |0,04 0=50-48 Black N 4 8 0,20 |0,04 0=50-48 8
(paper) =20/5 40/5 0g(0,20)+50 (paper) =20/5 40/5 =t log(0,20)+50 Q
Black p1 1,9 3,6 0,09 10,022 |1. —-23=50-71 Black p1 3,6 0,09 10,022 |1 30  |-23=50-71 r|D|
(glossy paper)|=20/11,2 | 40/11,2 =t log(0,10)+50 (glossy paper)| -20/11 2 | 40/11,2 =s(0,! 0§¥ l0g(0,10)+50 =
Itis valid: CIELABy,: Gy=C=116, TUBLOGy: = :sonog(s) 72,v,,W:v 100, Ypy=Y/20 Itis valid: IECSRGRy: Sy=5=100, TUBLOG: ty=1=50/100(5)=72 Yow=Y/100, Yo=Y/20
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TUB-test chart feo3; Colourimetric scaling of achromatic colours between white and black.
= Contrast W:N=100: 4 P1:p1=224:1,9 W|th YnW, Ynu. See 1SO 22028-5, ISO/CIE 11664-4, Cl
E




